
Adding and subtracting ones from a 2-digit 
number

Independent Task

Miss Hughes



 6 –  4 = (__)

16 –  4 = 12

26 –  4 = (__)

36 –  4 = (__)

46 – (__)= 42

56 – (__) = 52

(__) – 4 = 62

 2 +  4 = (__)

12 +  4 = 16

22 +  4 = (__)

32 +  4 = (__) 

42 + (__)= 46

52 + (__)= 56

(__)+  4 = 66

Can you spot patterns in the numbers?



  3 =  7 - (__)

13 = (__)- 4

23 = 27 - 4

 33 = 37 - (__) 

 43 = 47 - (__)

(__) = 57 - 4

(__)= 67 - 4

 77 =  3 + (__)

17 = (__) + 4

27 = 23 + 4

 37 = 33 + (__) 

 47 = 43 + (__)

(__) = 53 + 4

(__) = 63 + 4

Can you spot patterns in the numbers?


